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! W1 -Solving Quadratics by Factoring
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1) Solve
a)(x+1D(x+2)=0
At =0 X¥3=O

c)x(4—x)=0

\m 4-x =0

2) Solve and check

a)x?+7x+12=0

(7“”)(7(4-3) 20
XK{=0 %X+3:=0

%) =y

x?—8x+16=0 -Y x =Y \6
(x-YY%-y)=0 ’i*i:‘d
(x-4)*=
X-Y -0

d)(2x+1)(x—-3)=0

dx+| = X - 3 O

L

b)x?2—x—-6=0 - -

;B‘.xi
"34'_&:—{

(-3 (x4aY=q ~
K-3 O % =0

f)x2 — 7x = 18

K-7-19=0 - x 2 =-(g
(76-‘?)(7(+a) 2O L+ = -7

X-1:=0 X+a=¢
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3) Solve
a)2a?+3a—-2=0

1w W

XL =-y
+21 =3

e <

da® +4a -la ~2=0O
da (0t - (a0
(a+2)(2a-1) =0

At3=0  Ja-{=zO
A,z 3
€)2t2+11t+5=0

3 +ot+[£ +$2 6
(541 (£36)0
(£+5) (34 =0
ttozo 2E¥l -0

L== AE=-1

0 = Ym>-Cm¥am-3

O = 2 (Am-3)+((3n-3)

Q = (a3 (@m+l)
-2 O denxl 2 Q

A= Am=-|
= -1
m - w—
g)x*+2x=0

K+ =

e SA G

A=0
‘1(;.: “:.LE

b)3s2—4s5+1=0

351-35_]5 -\-( -0
35 (5-1)-1(s-1) 20
-NR2s-Nzo
<S-120 3s-(=0

Sj:| 33;(
o

d)3x2+7x—6=0

BN -2k —6=Q
B3x(x43)-2(x3) = O

(x+3) (3x -2)=Q
K320 Ix-2 =6

f) 10y2 — 16y = —6
0J-16y¥r 6 =0
L(Sy* =¥y +3) =
55153%3 +3:=6
Sy -3y =S
(4-0O(5y-2)=C
wl=0 5‘3‘350

343
h)3x2+2x=0

Y (32) = O

3x+2=0

3K = -

-2

“5x 3 =15
ﬁ-\—'_} - -3



i)5x2 —20x =0

j)0 = 4x + 3x?
Sx(X-{) =0 0= % (Y43%)
{j’k;:@! 1-4=G m 3% =@
'é'}(g;(-fﬁ 3x ==Y
Y= —é/-
k) x2 — 25 =0 )x2 + 4 =16
(x-$)(x+$) = o K= 1

A*-520 W5 =zO

X

)

iJTi
+

z t 3. ‘/a
myx2—2x—11=4 n)5x? = 2x
-x-15=Q Bx3=-15 S o 2O
(4 =S Hx+3)=Q bl

X-5=20 320

(%,258) Ii’yai‘Bi XL

o)(x+4)?=4

x+y = L L -1xX 436 -3x = O
X+y - %

p)(x—6)2—8x=0

>
Y -20x+3620 2 4 18:-3¢
XY= Y-

-l _|< _
x-D)(x-1€) = — = =30

l«,:;}@



4) The area of the rectangle shown in the diagram is 36 cm?. What are its dimensions?
v (x-5) =36
X
7(3‘67( -3 =z O "ix 'i_. --36
La+d --5 -3¢
(x- ) (tY) =0 A= A5 6
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5) A photograph measuring 12 cm by 8 cm is to be surrounded by a mat before framing. The width of the mat
is to be the same on all sides of the photograph. The area of the mat is to equal the area of the photograph.
Find the width of the mat.

Ave. oF med@ = fea oF probc

(A3 (g o) - 12 () = L (g)
% a4y +iext¥x - %6 = %6
x>+ 40x -96 = O
R Y(42 4004 -0Y) O B xoa =2
(U D(g-D =0 Py -0
X+R=O 4-2=O
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6) Three times the square of an integer is 432. Find the integer.
=8
21 Y429
X
% = 19y

¥=1 (5\\‘4'{



n(n-3)

7) A regular polygon with n sides has diagonals. Find the number of sides of a regular polygon that has

44 diagonals.

(>) L{({ EENGEE)
—~ ()

4D = n* -3

O0Zn"-3n-%8 - x2 --%%

O = (V\—l])(h;{g) X+ - -2
n-120 k=0

re §€c5’
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Answers

1)a)x = —2,—1 b)x =-3,1 ¢)x = 0,4 d)x=—%,3

2)a)x =—4,-3 b)x =-23 c)x =4 d)x =—-29

thla= 23 s =1 de= 52 ax =3t am= 30y =11 dx= -2
hx=-200)x=04j)x=-%0Kx=-55x=+/I2 = +2V3 = 4346 m)x = —35
n)x =02 0)x = —6,—2 p) x = 2,18

4)9cm by 4 cm

5)2cm

6) 12 or —12
7)11




